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1. 5'7 + 518 . 5194+ 5% i5 divisible by 5.

(a) 7
by 9
(e} 11
(d) 13

2, Ifa+ b= 2, then what is the value of

a ¢ o
d—c b=C
6.
ial -1
by 0
el 1
dy 2

3. Hx:y”".y:zmandt:xm’whemxvll.
¥# 1, z=1, then what is the value of abe 7 1.

) -1
(b} 1
(e) 'O
td) '3
4. If Zb=a+c and y* =xz then what is 8
xI =%y =228 —b equal to ?
() 3
by 2
{0 R |
dy -1
SPSS-T-XHI (2-A)

Which one of the following is correct ?

ta) Decmmal expansion of a rotional number
is terminating.

(b} Decimal expansion of a rational number
is non-terminating.

(e} Pecimal expansion of an irrational

number ig terminating.

fd) Decimal expansion of an irrational
number i3 non-terminating and
non-repeating,

If the roots of the equation px” + x + r = 0 are
reciprocil to each other, then which one of the
following is correct. ?

(@) p=2r
(hy p=r

(c) 2Zp=r
(d) p=4r

If 8ix— 33y =97 and 33x — 66y = 1, then
what is xy equal to ?

la) 2

by 3

ey —2

(dy -3

if §+§=1 and S+Xo1, then what is
abl:xxy equal to 7

ta) 1

h) 2

e} 0O

(dy -1
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1. 57 +58 450 4520 fpa fAwr=a g2 5. Fefefandasaaiais?
(p) Uil w7 29Ed UHE TE BT R

@ T : o >
’ (b) gfFE HEn & WHed 9HT ASadE] '
(h) 9 2
SRR (¢) AUNHY FEF F IWEE 9HN G wha
(e %I
(d) 13 (d) iy #@E & SVNed WER SEEETH
1 ST BT R
2. #MRaibh=2% 8 L& auw e
a-—-c —
22 6. 4G FHHE pxd 4 x 4 r= 0% A UHIE &
ey 8, 91 Frefafes @ & #ha w6 @ 2
(a) -1
(a) p=2r
by 0 B per
@ 1 c) 2p=r
d 2 (d p=dr

3. u&xz}.u:u‘ }.=:1I"ﬂ::,ﬂzz,—_xh‘uifﬁxxl.7_ ﬂﬁﬁﬁx—ﬁﬁy=97&ﬁ{ 93x — 65y = 1 %’fﬁ

¥+1, z:la,?huhcﬁlmﬂ%? wﬁm%m%r
fa)] =1 ta} 2
by 1 by 3
e) -t
w) 0
idi -8
fdy a3
b 2z e, % _ ab + =y
4, qﬁl 2h=a+c ﬁhpzﬁx_z%,'iﬁ B. _'uﬁ ;*E—l m ;+E-l%_.-tﬁ —bx
h—e —-n —H o ’
xb—e e 0= fds st 2 - 3
Lg
i3 fal 1
(hy 2 5 3
i
(c) 1 & o
=1
o dr -1
SPSS-T-XH| (3-A)
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9, If a” -1 =5, then what is the value of 13.
a" -1,
2
ta) 125
fhy =125
e} 140
dl - 140
0. If x+y+2=0 thenwhatis
(y+z—x+z+x—v" +x+y-2? equal 14.
to
al  (x+y+z®
(h) Silx+ylly+z)(z+x)
(e) 24xyy
(d} —24xy=
11. If (x + 3) is & factor of x” + 3x* + 4x + k, then
what is the value of k ¥
fa) 12
by 24 15.
(e} 36
d 72
12, The smallest integer with 4 digits which is a
perfect square is
fa) 1000
by 1024
(e} 1089
(d}  Noneof the above
SPSS-T-XHI (4=A)

Which one of the following is & zero of the
polynomial 3x% + 4x2 -7

{a) 0
by 1
(e} 2
dl =1

There are two numbers which are greater
than 21 and their LCM and HCF are 3003 and
21 respectively. What is the sum of these

numbers ?
(a) 504
(h) 508
(e) 514
(d) 528

If @ and B are the roots of the equation
ax® + bx + ¢ = 0, then what is the value of the

expregsion la+ 1) (P +1)7

(al a+b+e
a

(py Dre-a
a

a-b+e

ie) ——

1dl ﬂ'k’_“
A
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b) -125
(el 140
dy —140
10, wf'a x+y+x=ﬂ“§,?ﬁ
(y+2-%P+z+x—vP+(x+y—2°
e =ua @ 2
fa) (x+y+z?
thy  3ix+ yvily+z)iz+x)
el Z24xyz
(d) = 24xy%
11, 3fE (x+9), «®+ 3% + 4x + k F1 0F TGS B,
Ak AE TR 2
lal 12
by 24
ic) 36
idy 72
12, 4 371 &1 Ha@ S gOE 5t s gt e ot 2,
Freafefigs § & s 2 2
{(ay 1000
ihl 1024
(¢l 1089
) T
SPSS-T-XHI

13. W 3x% 4 4x* — 7 W g, Prafafas 4 8

14.

HIAH B 7
tal} 0
by 1

e 2
dy -1

vl 3 #EEd # S 219 791 8 &l 3 LoM
30 HOF #99: 3003 97 218 | 1 d@=s =

HOTEE R 2
fa) 504
(by 50B
¢} 514
(d) 528

15, AR o3l s EfiE ax2+bx+n=!}";¥i1§ﬂ§_,

(5-A)

Al =1 (e + P+ VFTAFAFIR 72

(@ a+h+e
a
(b) b+e~-a
a
(5] m
a
o Wr3=e
a
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16.

17,

The remainder when 3% + kx® + Bx — 6 is|20,
divided by (x + 1) is — 7. What is the value of
k-?

(a) =14
(h) 14
e} -7
dy 7

21.
If fix) and gix) are polynomials of degree p

and q respectively, then the degree of
[fx) & gix)} (if it i non-zera) is

(a)  Greater than minip, q)

(b}  Greater than max(p, q)
e} Less than or equal to mazip, q)
id} Equal t6 minip, q)
: — +
18, Whal is the value of H-H? =
a) -2415
by 2.i5
© 15
) -J15
19, What is the value of
1 1
TexP R xR  TexP-Dygt-b |
1+x% "5 xP=¢
where x =07 23,
fa) -1
thy 0O
fed 1
(d) 3
SPSS-T-XHI (6-A)

The sum of a number and its square is 20.
Then the number is

(a) —Buord
tby 20rd

(e} —5only
(d} Sor—4

If the price of wheat rizes by 25%, then by how
much percent must 8 man redove his
consumption in order to keep his budget the
same as before ¥

(a) 16%
(h) 20%
le)  25%
(d)  30%
E of the students who registered did not

appear for the examination, % of those who

appeared passed. If the number of registered
students is 2000, the number who passed is

(a) 1920
(b) 1056
el 1020
(d) B64

What is the difference between 049 and 0497

ta) 0O

{b) 0-089
(¢} 01
d) 008
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16. o9 357 + k=¥ + 5x — 8 ¥ (x + 1 H W Z| 20.
A B A 7N IR | kW AW R 2
(a) =14
b 14
e} =7
ol 7
17, AfE fx) 3 gox) wm: faft pafi g F amm R, | g
Al (fix) + gix) (A2 7 y=rm 2) 01 fagit B
(@) min(p, q) # T3
(hY  maxip, qlﬁ i@
(€) maxlp, q) % FE A §HE T
(d)  minip, q) % TTE
JE‘-JE“ \"IE'P'\E
18, - WO TR ?
Je+4v3 J5-43
(a) —-2415 29
i 2416
(e 15
idy =15
1 1
18- ]_‘:h—n_'_,c-n l+x"'b1-x“b 22
1
14+ x8=C 4 x1l-—|:
Tl x« 02, FUAFTE ?
23.
fa) =1
bl 0
(e) 1
(d} 3
SPSS-T-XHI (T-A)

U HEg A 3EE 9 = 4ee 208 | @ TR
e #

(a) —DHHAEE 4
(b) 2Z#HF=T3
(c) THIHA-B
d) &3EEi-—4

g% 7§ %1 Y= (TM) 260 T B, M U A
F HE 3w § e uffem 6 &6 w5
wifen, @1fh 3w 92 TRel FE1 A IR 2

(a) 15%
thl  20%
lg) 25%
id)  B0%
Gt BT ® EIE gitar & fom wufean

W, S s o s oa AR
Talteha SET & H=T 2000 ®, 91 30 7 T
el 6 T e 2 0

fa) 1920
(hy 1056
(e} 1020
(dl 864

09 3 0-9% 99 T FATW R ?

(a) 0O

(b) 0099
(e} 01
dy 009
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24. H-A:B=1:2 B:C=3:4 C:D=2:3|28.
nnd D:E=3:4, thenwhatisB: E egual to ?
fa) 3:2
(b) 1:8
(¢) 3:8
dy 4:1
25. A work when done by 10 women is completed
i 12 days. The zame work can be completed
in 8 dave when done by § men. How many
days will it take to complete when 6 women | 2%
and 3 men are employed to perform the same
job 7
(@) 12
by 10
) 8
(d 5
26. A man undertakes to do a certain work in
150 days. He employs 200 men: He finds that
only & gquarter of the work is done in 50 days.
How many additional men should he employ
so that the whole work is finished in time ¢
tal 7Tb
(b) 85 30,
(e) 104
(d) 120
27. A train moving with a speed of 60 km per hour
erosses an electric pole in 30 seconds. What is
the length of the train in metres ¢
(a) 300
(hy 400
(c) 500
(dy 600
SPSS-T-XHI (B—A)

T 120 is distributed among A, B and C so that
A'a share 18 ¥ 20 more than B's and ¥ 20 less
than ('s. What is B's share ?

@ T10
(hy ¥ 15
el T20
d) 25

In the following table of inverse variation,
whnl are the wvalues of A, B and ©
respectively 7

M 15 -6 2 ¢
N -4 A B 60
fa) 10,-30,—1
(b)  10,-1,30
(e) —30,10,—1
(dy —1,-30,10

A person borrowed ¥ 5,000 at 5% rate of
interest per annum and immediately lent it at
55%. After two years he collected the amount
and. gettled his loan. What is the amount
gained by him in this transaction ?

(a) <28
(h) &0
(el <100
(dl =200
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24, A2 A-B=1:2 B:C=3:4, C:D=2:3

MM D:E=3:4% @ B Efooms sma & 7
L&l
(b)
(el
(d)

= B e G
= oo o kK

. HEH W T AE e s dam 2fE d

g B A & | 36 1 H W 5 ARH i §
# 9% s § B I 2 | = o w owaE
% fom o 6 3fid ain 3 smeeht some. 9 &,
=/ qu B 4 T f2m w0

{a} 12

(h) 10

(€) 8

(d B

s i feet w150 BA A qo e
IeiEe &a B | 9® 200 e g &
21 W va Sen ¢ % so 1 4 om wd @
Hae uhemE @ Qo @ om0 3w e
wfafes sl @me =red, fed 6 =8 w
w1 q9A § @ B S ?

(g} 75

(b) 85

(e} 100

(dy 120

60 km Sfa 92 # g 8 F@d g w6 gl
v ey & F1 30 Fwve # 9 w A R
ol o ead, drEm A R 7

(a) 800
(b} 400
(e} 500
(d) 600

(8-A)

28.

29.

A B3N CH 7 12050 W =12 wd & f5 A
w1 AW BH AW B ¢ 20w B 3w cF 3w
BT 20FIR | BFH W FTE?

(a) T 10
(b) 15
e T20
(d ¥T25

=epA fa=o 6 Fafaias =l 5, A, B 3t
C 3 FA: A R 7

15 -6 2 C

N -4 A B &l

(a) 10,-30,—1
(k) 10,-=1,30
(e) —30,10,-1

d) -1,-30,10

wh =t 4 50 ofa o &t s T om £ 5,000
n fau o g @ 55% H1 = W IER 3
fu | 31 ad W 3 e A o s s
w9 g9 fom | 3@ A 7 3 e wwin
1 E1 BH 2

(n) T25
(b T &0
fer ¥ 100
{d) ¥ 200
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Al present the average of the ages of a father
and a son is 25 years, After seven years the
con'will be 17 years ald. What will be the apge
of the father after 10 years ?

fa) 44 ypars
(b} 45 vears
(e) 50 years
(d) 52 years

If &5 tractors can plough § hectares of land in
b days, then what is the nomber of tractors
required to plough 100 hectares in 50 days ?
{a) 100

(bl 20

(&) 10

dy 5

A merchant commences with a certain capital
and gains annually at the rate of 25%. At the
end of 3 years he has F 10,000, What is the
original amount that the merchant invested 7

(a) ¥ 5,120
(b) ¥ 5210
{e) ¥ 5,360
{d) ¥ 5,600

Which dne of the following decimal numbers is
a rational number with denominator 37 7

{al  D-458458459 . ..
(b) 0459458450
(el 00459459459 . . .

(d) 000459458 , ,

a5,

36.

37.

(10-A)

The annual income of a person decreases by
¥ 64 if the annual rate of interest decreases
from 4% to 3-75%. What is his original annual
income 7

(a) ¥ 24,000
(b) T 25,000
(¢) ¥ 25,600
(dy ¥ 24,600

For 0 < m < 1, which one of the following is
correct 7

2 1

(a) log,m<m*<m<m

-1

(b)) m<m -:mﬂ-eclngmm
e} logyam<m< m! «em?
(d} Iugmm-::m_l <m < m?

A gentleman left a sum of ¥ 39,000 to be
distributed after his death among his widow,
five sons and four daughters. If sach son
receives 3 times as much as a daughter
receives, and each daughter receives twice 65
much as their mother receives, then what is
the widow’a share ?

{a) & 1,000
{(b) 1,200
(e} £ 1,500

fd) None of the above

Three numbers which are co-prime to each
other, are such that the product of the firsl
two is 286 and that of the last two is 770
What is the sum of the three numbers 7

{a} 85
(b} 80
(cd 756
dy 70
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31. amH # U Tm R 9@ & w7y w ded
2aad B | WA ad AR 43 17 3 w0 A 5w |
10as =g fora it g =0 Fef 2
(a) 44 ad
(hy 4574
fe) BOEY
(d s28d

32. 2% 5¢ge, 5waear o =i 5 A A &, @
100 FFew =t 50 fedl A S % o femm
et ) savEEs wnf 2
{a) 100
(bY 20
fe): 10
(d) B

33, U =yl v FivEd 4o ¥ ghamm W R 3
5% H W B AtE Y wEm w R |
a4 % 3@ § 3Ws 9E T 10,000 B B |
ST F R wE TS ik uff e R o
{a) ¥ 5,120
by  T5210
fe) 5,350
(d) ¥ 5500

34, Trafaigs Zomem senEl @ @ 58 wimg @
-t @ Pma s a7 2
(a) 0459459450 . . .

(b)  (-459459459

(e) 00459459459 . ..

(d) 000459458 . ..
SPSS-T-XHI

35.

36.

aT.

(11-A)

afe onffs sne 2 4% @ 9T 3-75% B A
2, @ v =fw 1 Tfis st = 64 92 WA
# | Zmeh e At ang w2

T 24,000

# 25,000

T 25,800

2 24,600

£:1)
(b}
(e}
()

0 <m < 1% o, frafafas 8 8 S 58
g7

(@) !

Iog,qm <m® <m <m”
4.2

thy m<m™ <m®<log;,m

{e) .

(d)

log,,m<m< mlem

i

logyym < m <m <m?

s =1 3 7 30,000 F owAuf @, W
Iuh! §eg & wvEr I@eh! fawEn, 9 g sl
ar gfi@ 4 =fa s R ) 3R s @
& fest 71 9 T fiman R, oft wa= @l =0
et ol % Tt g e R, a1 fawen =
fire T 8 2

{al ¥ 1,000
(b) % 1,200
e} ¥ 1500
(d) I = A HE TH

i HE o UH-gE § SEeney #, 7 Wan
3 1% weeh 41 & Ews 2s6 s sifem @1 =
RS 770 8 | W HEme @ Aeres @
27
(a)
by 80
€ 75
) 70

&85
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39. The age of a woman is a two-digit integer. On
reversing this integer, the new integer is the
agv of her hushand who is elder to her. The
difference between their sges is one-eleventh
of their sum. What is the difference between
their ages ?

{al 'Byears
(hl 8 vearsy
(e} 10 years
id) 11 yesrs

40. A passenger train and a goods train are
running in the same direction on parallel
railway tracks. If the passenger train now
takes three times as long to pass the goods
train, as when they are running in opposite
directions, then what is the ratio of the speed
of the passenger train to that of the goods
train ?

(Assume that the trains run at uniform speeds)
a) 2:1
(b} 8:2
e 4:3
dy 1:1

41. All odd prime numbers wupto 110 are
multiplied together. What 15 the unit digit in
this product ?
ta) ©
by 4
e} B
(d)  Noneof the above

SPSS5-T-XH|

42. An alloy A contains two elements, copper and

45,

(12-A)

tin in the ratio of 2 : 3, whereas an alloy B
contains the same elements in the ratio of
3 : 4.1 20 kg of alloy A, 28 kg of alloy B and
some mare pure copper are mixed to form a
third alloy C which now contains copper and
tin in the ratio of 6 : 7, then what is the
gquantity of pure copper mixed in the alloy C ?

{a) 3kg

(b) 4kg
@) b5kg
(d) 7Tkg

A guadratic polynomial ax® + bx + ¢ is such
that when it is divided by x, (x — 1) and (x + 1),
the remainders are 3, 6 and 4 respectively.

What is the value of (a + b) ?
{a) 3

by 2

fed 1

(d) -1

If the avernge of 9 consecutive positive
integers 15 55, then what is the largest
inte_gar?

(a) 57
(b) 58
(el 59
(di 60

The average of the ages of 15 students in a
class is 19 years. When 5 new students are
admitted to the class, the average age of the
class becomes 18°5 years, What is the average
age of the 5 newly admitied students 7

(a) 17 years
{b) 175 years
(e} 1B years
td) 155 yvears
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uF Hfgen & 3 2 i = owE s R
Ui & 3l W SAW W A4 W, a9 i
% qfn, 1 & 388 %2 &, 1 w5 = =W
2 | IR I w1 A6, IR g F DTee
] femn § | 39 9w S R 2

(al B?ﬂ
(h) @aq
(¢) 10ad

(@ 1194

v Fardl ad ol v memdl v A R A

FuTAE T W @ s | af 3 fede fam g
1 TE BT A T E, WEvmEl 9 e °
W 5HY wdl, I9E A9 T weg 98 A9 ol
2 | a3 waw fam = o €, A warl md
&1 Tifa 1 weEl 1 0§ S 68 0

(s wifom i mfeai wramm ofa 3 serh 8)
(a) 2+1

() 3:2

(€ 4:8

dl 1:1

110 @5 # off fm svmsa A@EmEt B T

e T T S R | 3 TEEE | g w
3 F1 2.2

twy D
by 3

e} b

(d) I9EE A | B T

(13-A)

. Tt fowu A S 9 o At i fim 208

sy # &, wafe ) s foam B A =@
TE8: 4% FUH B (4 20 ke g A,
98 kg fianTrg B, 791 9 i afus g 9@
fier v el fagum C wad w R
atan afit i 6 7% s/om # §, @ fgeg o
e e vig A i owEn R o

fa) 3kg

(b) 4kg

fc) Ghkg

(d Tk
s fzamdt 7898 ax® 4 bx + ¢ 30 wW 2 B 9@

 x, (x— 1) HW (x+ 1) W Fawnfe foan e 2,

A TG HE: 3, 6 AN 4 WA B | (a s bi
T R 7

fa) 3
{hy 2
fe} 1
(d) -1

. afg o FEIT SR quTe s S 55 B, A1

HEH W QUi 4R 2

a) 57
thy 58
(¢l 59
(d) 60

. UE AT % 15 DTl Y A F AEa 195 2 |

W A 5w W oA fem wen R, @
eyl 1 Ea g 185 4 # wat B | Wl
T 5710 BT i e s = @

(0) 1794

(b) 17-5a¥

(e) 189

(d) 18599
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A man can row at a speed of x km/hr in still
water. If i a stream which is {lowing st a
speed of y km/hr it takes him z hours to row to
a place and back, then what is the distance
between the two places 7

2 .2
() E Tyl
2y

zlx2 -321

(b
Zx

x-yH

(e
2rx

2x® =%

X

d)

A water tank has been fitted with two taps P
and Q and a drain pipe R. Taps P and Q fill at
the rate of 12 litres per minute and 10 litres
per minute respectively.

Consider the following statements 81, S2 and
83

S1: Pipe R drains out at the rate of 6 litres
perminute.

IF both the taps and the drain pipe are
opened simultanegusly, then the tank 13
filled in 5 hours 45 minutes,

83: Pipe R drains out (fully) the filled tank

v 15 hours 20 minutes,

To know what is the capacity of the tank,
which oneof the following 1s correct ?

a)

by

52 is only sufficient
51, 82 and 83 are necessary

Any two out of 51, 82 and S3 are
gulficient

None of the above

te)

fd)

(14-A)

A car has an average speed of 60 km per hour
while going from Delhi to Agra and has an
average speed of v km per hour while
returning to Delhi from Agra (by travelling
the same distance). If the average speed of the
car for the whole journey is 48 km per hour,

then what is the value of y 7

(a) 30 km per hour

(bl 35 km per hour

el 40 km per hour

(d} 45 km per hour

An article 18 sold at a profit of 32%. If the cest
price is increased by 20% and the sale price
remaing the same, then the profit percentage
becomes

(a) 109
(b) 12%
(e} 15%
(d)  20%
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uw =fm a8t 71 ol § x el jue o= 8
E @ A R | AR uw oww (9E), W
y Tt /s i ofd @ we @ R, v tam A
fit 761 =W 7 9@ § 99 @R I AW
(sited) § 38 =afn ® z 9 @@ §, A A
w3 e Bz a2 2

zix? — yg}
2y

tal

2 ix? —v_\'gll
2x

(h)

(%2 —y%)

(g)
2ax

:ng'—yz'!
X

(d)

gl #l uE = 4 g AW P S Q 3 U
frpm et R fRe & 7€ 2 | @ P oo Q o
Fi 7= = w12 o v B sim i
it e @ W@

™ "o 1 Trafafes swt 81, s2 s saw

fe=m St .

81: 9 R, 6 diex i fime & @ 8 aefi
Fr=mitam &1 2 |

s2. Az 29 wen s frem a= F o A
@ier fear W B, o 5 9e 45 fiee 4 &h
WA R |

83 7 R w0 & 7 w1 15 9 20 fee A qff
R | Gl Al 8 |

Zd & g IFA % fom, Tefefas 4 A

wiE T 2 2

e S2 8w &

81, $2 3 53 WEHEF &

S1, 52 31 39 B = oft 3 wiw #

394w ° H I8 A8

(al
(h)
{c)
(d}

48, ferehl @ = 99 Tl um wn & aftEa 0l

49.

(16-A)

g0 Fft wfs g= & o s @ feel amm
o qng Id #em T oy Reh ofd g 2
(= gft 72 w0 H) | 4R d@l @ d s R
sitem nfa 48 Bft wfa g @1, 9 g% 9=
22

30 Tt wig 9

(a)

by 35 faeft uf a=

ie) 40 Tt wfg w=

() 45 Tt wfg w21

s aE ) 320 S 9 = e 2 | Af e
e 20% w8 Wl 2 I Ry e ad war R,

S e T e s A
(a)  10%
(b) 12%
el 15%
) 20%
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50. A, B, C, D and E start a partnership firm.

(8

Capital contributed by A is three times that
contributed by D, E contributes half of A's
contribution, B eontributes one-third of E's
contribution and C contributes two-third of A’s
contribution. If the difference between the
combined shares of A, D and E and the
combined shares of B and C in the total profit
of the firm is ¥ 13,600, what is the comhined
share of B, C and E 7 (The shares are
supposed to be proportional to the
contributions)

(a) ¥ 13,5600
{hy T 18,000
ey T 19,750

dr T 20,250

A Pie Chart is drawn for the following data :

Sector Porcentige
Agriculture and Rural :
Devalopment 34
Irrigation 1256
Energy 272
Industry and Minerals 154
Transport and !
Communication A
Social Services 181

What is the angle (approximately) subtended
by the Social Services Sector at the centre of
the cirele *

(a) 45°
(b)  46°
() 58
(dy 98
SPSS-T-XHI

62,

53.

(16-A)

The arithmetic mean of two numbers is 10 and
their geométric mean is B. What are the two
numbers ?

(@) 15,6
by 12,8
(e 16,4
(d) 18,2

The arithmetic meun of 11 observations is 11,
The the first &
observations ig 1056 and the arithmetic mean
of the last 6 obgervations is 11'5. What is the
sixth abservation ?

arithmetic mean of

fal 100
(b) 10:5
e 110
d 115

What is sin® 8 — cos* 0 equal to for any real
number 87

fa) 1
(h) 1-2sin®6
£) 2cost@4+1

idi 1-2cos’a
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50. A, B, C, D3N EuF \EEd o 5E w0 E

A g Fnd g ds, D g emd g 9ot i i
TR | B 39EE, A HTEH s 8,
B # F9EF, EF HmE W we-faens ], s
C & #AYEE, A F vEE F1 ofoes & | afz
o % g o d, A, D ol B % dew B
A4l B #H ¢ % "gad FE W Fa T 13,500
2, @ B, C ¥t E % "5gad feem e 2 2
(feeqt, siwel & wwEEE | qE o )

(@) ¥ 13,500

(b) £ 18,000

(¢) ¥ 19,750

(d) & 20,250

51. Fefafen siwsl & fow gava (w3 <%)
T T R
T iR
Fit 3 v e 12:9
ford 125
Fal 272
FEm 3w 154
yfew it J=m 159
ammifie #and 161
HIfa dais & 99 @3 (&) 30 99 & &2
famg w0 wafm S (emam) feam & 7
fa) 45°
(b) 46°
{e) B8
(d) 98
SPSS-T-XHI

(17=A)

52. 7 HEHIE] @ HAE 5eg 10 2 3 3 e

qiE 8 R | S WS -] A 2
@) 155
(b) 12,8
el 16,4

(d) 18,2

11 W& =1 @AY AR 11 R | Wnieys (TEe)
6 D&TUT] W1 WHIGL WA 10+5 # 30 sifan 6 Jaw
W] HATH AT 11-5 8 | Sa1 Y 79 ' 2

fa) 10:0
{by 105
© 110
(dl 115

. ot amafas @m0 % f&u sinte — costo

frad s & 2
(a) 1

(b) 1-2sin’@
(e) Z2cos®d+1

(di 1-2cos?s
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556. What is cot 1% cot 23° cot 45° cot 67° cot 89" |BB. Each side of a square subtends an angle of 607
equal to ? at the tip of a tower of height h metres
standing at the centre of the square. 1f [ is the

fa) 0 length of each side of the square, then what is
by 1 h* equal to ?
3 (a) 242
(e) =
.2 fﬂ
(b E
1
(d) E . 2z’
< Ty
ﬂ2
I is
idl 3

56. What angle does the hour hand of a clock
describe in 10 minutes of time 7
59, TFrom a height of h units, a man observes the

(@ 1° angle of elevition as a and angle of depression
O as f of the top and the bottom respectively of

a tower of height H (> 4h), To what further
(e} 6° height should he climb 8o that the values of
@ 10° angle of elevation and angle of depression get

interchanged for the top and bottom of the
tower ?

(a) H-—hunits

57. Consider the following statements ; ) H—9h units

1. (sec®8-1)(1-cosec®0) =1 (¢4 H-3hunits
2, sin 81+ cos 01" + (1 + cos 8) (gin 0] = (d) H-—4h units
2 cogec B
Which of the above is/are correct 7 60. If secxcosecx =2, then what is
tan™ x + cot™ lto?
R e n*x + X equa
al 2
Y] 2 [III]}' (b) 2!1-!-]
{e) Both 1 iind 2 le) on
(d) Neither I nor 2 (d) g0l
SPSS-T-XHI (1B8—-A)
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86. cot 17 cot 28° cot 45° cot 67" cot BOD® s

57.

S5PS5-T-XHI

A § 7
a) 0

by 1

{ch

b | =

d)

2|

foreft =t & w2 1 g, @ F 10 e
foram fait =1 =i st R 2

(a) 1°
(b} &°
(e} &

s DI 1

Frfafias a1 w faan Hifsu .
1. (sec?0—1)(1 - cosec?d) =1

2. gin0(1+eos00 ) +(1+¢os0)(sin0rt=

2 eogec B

I9gEa § | A/ E TE 88
Fae 1

(b) e 2

(e) 13 22

() Ad 1,782

{a)

58, el = 61 wers wen, 39 @1 % &g w fem

59,

(18-A)

h Hizx #1 F=nd = owE & o () w
B0° =1 HIV HeAfa FAH ® | afe @i 1 uw

s i s | R, A hE e o #
(a) 2*
2
k) ;—-
332
(c) —2—
ﬂ:i
{d) ‘—é-—

h 59 & F9 ® vs =fE e @ &
H (>4 h) &9 916t v 29 & o 3 7e a0
FHW: IAGA B o AW FGAEA FOT pR | W
amt 3 e S 55 =ik, @ife e *
¥ 3 79 & IHEA WM A IFEEEA H
U HAEEE ® 90 2

{a)

(b)

H - h units
H - 2h units
(e} H —3h units

(d) H-4h units

60. fE g8 X cosec X = 2 %,Eﬁ tan™x + oot x

former oA 1 7
g) 2

(b) 2n!

(e} 20

(d) 2~!
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Bl. If cosx+cos x=1, then whatis 65.
sin® x + sin*x equal to?
fa) 1
(h) 146
el 2
d) 3
62. IfsinA +cos A=pandsin® A + cos® A =g,
then which one of the following is correct 7
(a) p’-8p+q=0 66.
(b) q-8q+2p =0
(e} p’-3p+2q=0
d p*+3p+2qg=0
2
63. If x=§w, then which one of the
sec” 0 + tanf
following is correct 7
.
a) = 3
el e 87.
bl =xe P— 3]
13
fel —-8<x<- ;1_
3
(d) % £x<3
684. ABC is a right angled triangle with base BC
and height AB. The hypotenuse AC is four
times the length of the perpendicular drawn to
it from the opposite vertex. What is tan O |68,
agual tio 7
(@) 2-48
(h) NA-1
€) 2+ 43
@ V8+1
SPSS-T-XHI (20-A)

ABC i3 o triongle right angled at C with
BC = a and AC = b, If p is the length of the
perpendicular from C on AB, then which one
of the following is correct 7

ta)  a2b?=p?(ad+ b

(b)  a?bh*=p(b*-a%)

() 2a®b? =p* (a®+ b?)

dy  a?b?=2p% (a4 b

The radius and slant height of a right circular

cone are § em and 13 em respectively, What is
the volume of the cone ?

la)  100% em®
(b 50rcm®
le) 68rem®
() 1697 cm®

Two equal circular regions of greatest possible
area are cut off from a given circular sheet of
area A. What is the remaining area of the
sheet ?

(a) AJ2
(h) A/3
(e} 3A[M5
(d)  2A/5

If the ratio of the radius of the base of a right
circular cone to its dlant height is 1 : 3, what is
the ratio of the total surface area to the curved
surface area 7

fal 5:3
h 3:1
el 4:1
(dy 4:8
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61. G2 cow x + cos? x = 1 B, 71 sin® x + sin x
formes mmar 2 7
fal 1
() 15
icl 2
@ a
62, U sinA+cosA=p3Msin®A+cos®A=q?,
mfefafma a d sSmadi 2 2
fa) p’-3p+q=0 66.
(b q*-8q+2p =0
(e) p’-3p+2q=0
d) p'+3p+2=0
63, R x < S O-nb o o pophe ¥
s06° 0+ tan 0
- TE R 2
1
Lal E-:::c:’-_l 67.
1
|23
b xi[a }
(e) -3-:::::—1
3
@ L<xs3s
3
64. ABC vs mHe Byw § e sman Be it
= AB 2 | F AC Fi T, wEg I A
W W EE e oo § SR T R ) [es.
tan C foreh amet £ 2
) 2-43
by J3-1
ic) 2+J§
(d) u@+1
SPSS-T-XHI (21-A)

65. ABC UF fyw ® 9@ ¢ W wEwniE R, @

BC=a3M AC=h? | 4z C& AB T &2 51
e @4 6 wad p ®, @ FrefofEs § 3
w1 HE R 7

(m) a2b¥=pa®+b%
h)
(€  2a?b?=p®@®+b?

a®b? = 2p% (a* + b?)

HE h? = 2 fh:i - II.EIJ

idi

fedt s g 1 freyr o Redt S

FHY: 5 em 3 13 cm B | ¥ 1 AHAA Ha
57

la) 100% cm®

(b) 501 cm®

(el 657 cm”

(d) 1697 cm®

A &E%E ATl geig S 8 g8eR (FEd 99)
HYg Ga%E & o aUEt geid &9 HE I 2 |
HTE I I e 4R 2

fa) Af2
by A3
€} 3A/5
(d) 2A/6

ife v smgda v% F wmen H G w
e Tt S @ g 13 &, @ F4
il EF W1 9 T SA%E H ST a4
&7
(al

by 3J:1
el
(dy 4:3
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71.

A right circular cone is sliced into n smaller
cone and a frustum of a cone by a plane
perpendicular to its axis. The volume of the
smiller cone and the frustum of the cone are
in the ratio 64 : 61. Then their curved surface
areas are in the ratio

la) 41
th)y 16:9
{c) B4:61
(d) B1:64

In & room whose floor i a square of side 10 m,
an equilateral triangular table of side 2 m is
placed. Four  book-shelves  of  size
4m=1mx=9m are also placed in the room.
If half of the rest of the area in the room is to
be carpeted at the rate of ¥ 100 per square

metre, what i3 the cost of carpeting
lapproximately) 7

(al ¥ 7,600

(b} ¥ 5,635

e} 4113

d)y ¥ 3200

A region of area A bounded by s circle C is
divided into n regions, each of area A/n, by
drawing circles of radii r,, ry, 1y .. r,y such
thatr, <1, < 1y <..1,_, concentric with the
circle C. I p, = -r—":li wherem =1, 2, 3, ...

{n — 2), them w.uvhif:t“!.:L one of the following is

correct ?
(a)  pinereases as m increases
ib)  pdecreases s m increases
(el premains constant as m inereases
(d)  p increases for some values of m as m
increases and then decrenses thereafter
SPSS-T-XHI

T2

73.

T4.

(22-A)

What is the volume of a cone of masimum
volume cut out from a cube of edge 2a such
that their bases are on the same plane ?

(a) =nd

r:a3

by —
4

2ra

(e}
3

3ra?

id
; 4

The radii of two circles are 45 em and 3-5 cm
respectively, The distance between the centres
of the circles is 10 em. What is the length of
the transverse common tangent ?

(al 4em
(bl bHem
fe) Bem
(dd  Tem

There are as many square centimetres in the
surface area of a sphere as there are cubic
centimetres in its volume. What 1= the radius

of the sphere 7
(n) dem
ibi 8em
() 2:em
dl  lem

The length of a line segment AB is 2 em. It is
divided into two part= a1 a point C such that
AC?%= AB x CB. What is the length of CB ?

fa)  346em
() 8- +Bem
{¢©) 53 cm
(dl J&-1lem

Previous Pathshala




70.

Tl

SPSS-T-XHI

ey 6461
idy 81:64

firft e |, T ®31 10 m Y97 A0 T G
2, 2 m W 9Tl v e B i e
‘%Imﬂﬁ&m:lmxﬁmaiﬂﬁrl:ﬁ
Rl 1 | sremiE ot g § | afz e
% TRl o9 &F & 39 VT 0 UE e =e
o & fawdt @t oz 100 fe = W R, @
HEAM e w1 qed () e @ 2

(a) 2 7,600

(b} T 5635

(€ T4,118

{d)

g9 C @ g, A dA%E AW TR &9 H o
wvgl ¥ fawfom B mn R, S ysis @0 w5
HI5E A/n B | $H WU r, oty e Ty
fasmal el ¢ § Wl 99 99 W & T #

T 8,200

Tl

m

T m=12238 .m-28 @ FreafefEmd &
AR ?

(a) m® TE4 & HUHY p o 77T 2

(b) m WAl B A p HEA B

(¢) mTEal 2 p o (fem) w2

(d) W m wgA & A 396 F9 gE & o p
woAl AT I 9 g Tl 2

ﬁﬁr_.;crz-cra-:...rﬂ_lﬁ Iﬂﬁpm=

72, %a W A 99 W WEH U ¥H 56 TN

73.

74.

6.

(23-A)

AR R s A am g R, @
$H WHH q HHA 91 W W Sfuwan e
w1 w2

(a) na’

(b)
]
id)

7 el & frsand 99 405 cm 3N 35 em B
g1 & Fgl ® 919 A gl 10 em B | FATEA
gt w41 e @ 2

fa) 4cm

(b) 5cm

el Gem

(d)

wH ME & Y= fEed 1 3a @ 31 SR
# forat 7 205 snaew § w9 Bdnfie 8 | et
f s Fn o

{a) dom
(b)) Jem
el 2em
dl lem

o tEEvs ABH HaE 2em ® | g CcR G
il 4 z® wer fawfem =@ 2 B
AC?=ABx CB? | 99 CB & oiam =07 # 7

(&) 8+5cm

Tem

) 8-+Bem
ic) BH J3 em
dy J5-1lem
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76.

77.

78.

{al land2
(b)) land4
{¢) 2and3
id) 2and4
79. The locus of a point equidistant frem two
intersecting lines is 82,
(@) A straight line
{b) A circle
(¢) A pair of straight lines
(d) None of the above
SPSS-T-XHI (24—A)

The locus of the mid-points of the radii of

length 16 em of a cirele is

{a) A concentric circle of radius 8 cm

(b) A concantric circle of radius 16 em

(c) Thediameter of the circle

{d) A straight line passing through the
centre of the circle

The curved surface arvea of a right circular
cone is 1'76 m® and its buse diameter is
140 cm. What is the height of the cone ?

(a) 10ecm

(b) 1042em

(6) 20J2em

(d) 10415cm

Consider the following statements :

1.  The orthocentre of a triangle always lies
inside the trinngle.

2. The centroid of a triangle always lies
inside the triangle.

3. The orthocentre of a right angled

triangle lies on the triangle.

4, The centroid of a right angled triangle

lies on the triangle.
Which of the above statements are correct 7

80.

Bl.

Consider the following statements :

Two triangles are said to be congruent, if

1.  Three angles of one triangle are equal to
the corresponding three angles of the
other trinngle,

2.  Three sides of one triangle are equal to
the corresponding three sides of the
ather triangle,

3.  Two sides and the included angle of one
triangle are equal to the corresponding
two sides and the included angle of the
other triangle,

4.  Two angles and the included side of one
triangle are equal to the corresponding
two angles and the included side of the

other triangle.
Which of the above statements are correct 7
(@) 1,2and3
) 1, 3and4
te}  1,2and4d
(dy 2 3andd

Given that the angles of a polygon are all
equal and sach angle is a right angle.

The polygon has exactly four
sides,

The sum of the angles of a
polygon  having n sides is
(3n — 8) right angles.

Which one of the following is correct in respect
of the above statements 7

(a) Beth Statement-1 and Statement-2 are
true and Statement-2 jg the correct
explanation of Statement-1

Both Stetement-1 and Statement-2 are
true but Statement-2 is nol the correct
explanation of Statement-1

Statement-1.:

Statemant-2 ;

(b

(el Btatement-1 is true but Statement-2 is
falgn

(d) Statement-1 is false but Statement-2 is
troe

If the length of a side of a square is increased
by 8 em, its area increases by 120 sguare cm.
What is the length of a side of the square 7

fal 2:5om
(b} 3Hcm
(e] 4-6em
(dl B5om
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76.

7.

79,

SPSS-T-XHI

16 cem #AE 61 s 9t felt g & =g
% wog fagail = fagmy 2

(a) 8 em = w1 0w e g9

(b) 16 cm T F1 0% HF=) g9

() o = =H

(@) I F F3 H A i OF #EE

TH AE-gHE T F 9% TRE ATEA 176 m”
2 aft 3% AW W= ST 140 om ® | HE H
Grerd R Y

(a) 10em

(b 102 em

(€) 2002 em

(d) 10 15¢em

Fpafafies se w = it -

1. Fqm @ @9 % e 3w B w
HEL R 7l 2 |

2. TR R W Eegw wden 36 B s
HEa |

4. UH wawv B W we He 38 By w
foog g 2 |

4. T gwsw B w1 Few e Py w
Fam g & |

e | FH-0 F9E =5 20

[a) 132

(b) 13074

(¢} 23fg

(d) 23fm4

71 wiesad Tl # wuE gl W g W
o

lm) TR I 1>l

(b) UHFH

(¢) HTE TS = v g

() IudE A F W AR

Hl1.

82,

(26-4A)

Freafefiam a1 w fa=m Fifan .

21 Fasya watmm &2 9 8, 99

. U faqw % dm Fw g@ faw F wm
it F & e 6

2w T 1 g B s
A e % 2w E

3w g 6 2wl o = i wm
ot fige & " @1 W W I
AFTH IV & =R |

4 U @ & @ v T T dE O

W % qOE # |
TR Al # A EAA w7
(o) 'I,EGIﬂIS
(b 1,334
te) 1,231‘1”(-1.
) 2,334

fem mn B T v wgym F wft o e #

3 e W U AR R

FYF-1 . TEHF W i A g # |

-2 n WWH dA GRYH A0
TAES (30 — 8) BEH FA R |

mg?m%éﬁﬁ.ﬁnﬁﬁaﬁﬁmm

HqER?

(a) ] N HUA-2 ZHT HE A, 991 FEA-2,

Fya-1 1 HE = R

wU9-1 H ®wga-2 TEl HA OB, oA

FH-2, HYA-1 H WE ST TH B

(¢} THYH-1 TE B, oA U2 TE B

() TUE-1 T R, A FEE-2 HH R

af2 uF F i E i FEE 8 em T A AW,
il JEE S 120 co® @G STOW | @ FH g
1 FaT FNR Y

a)  25em

(bl  3fHem

wh 46em

id)

il

570 cm
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B3. What is the largest power of 10 that divides | 87.
theproduct 1x2%x3x4...x23x24x257

{a) 2
(b} 4
(¢) |6

(d) None ol the above

84. Walls (excluding their roofs and floors) of 5
identical rooms having length, breadth and
height 6 m, 4 m and 2-5 m respéctively are to
be painted. Paints are available only in eans
of 1 L and one litre of paint ean be used for
painting 20 square metres. What is the

number of cans required for painting 7 B8.
ta) 10
(b) 12
() 13
d) 14

86. A rectangular pathway having width 45 m
and length 10 m will have to be tiled using
sguare tiles of side 50 cm. Each packet of such

If the ratio of the circumference of the base of
a right circular cone of radins r to its height is
3 : 1, then what iz the area of the curved
surface of the cone 7

(a) S
2 =
o 2nr y4n” + 9
3
mj -HH"P].
{ch
3
2 2
() nr jfd: +9

A wire is in the form of a cirele of radius
98 om. A square is formed out of the wire.
What is the length of a side of the square ?
{(Use = 22/T)

{al 146 em
fth) 152em
(e} 154 cm
(dl 156 em

tiles containg 20 pieces and costs T 100. What | Consider the following for the next two (02)
will be the total eost of tiles for the pathway ? | guestions:

(0) “T1200

thy < 1,100

e}y F1.000 &9,
d) 7900

B6. A cube of maximum volume (each corner
touching the surface from inside) iz cut from a
sphere. What is the ratio of the volume of the
eube to that of the sphere 7

90.
lal 3:dn
()  JB3:2n
(e} 2 y‘r_ﬂn
(d1 4:3r
. SPSS-T-XH| (26-A)

In a triangle ABC, a, b and ¢ are the lengths of
the sides and p, q and r are the lengths of its
medians,

Which one of the following is ¢orrect ?

lal Z2lp+g+ri=la+h+c)

(b) Z2p+q+ri>3fa+b+a

{e) Eu‘p+q+rI<3{a+h;+-nl

dy 1lip+ag+ri=10ta+h+e

Which one of the following is correct 7
(a) (a+b+ec)<ip+q+r!

by 3la+b+el<dip+q+r)

el 2fa+b+c)>3(p+rq+r)

idi 3la+b+eci>=4lp+rq+r)
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10 %1 FHiberam o @ & S e
1x2x3x4..x23x 24 x 25 o =
R?
(u) 2
ithy 4
e}

id) “ﬂﬁﬁﬂﬂgﬁ

UF F] 5 a0 @ da (fieh e aur e
wisat) Tl o, e awr SuE @
B, 4m AT 25 mE, W9 Fn A= B | W
Fad 1 & fEegt 1 e § 3w &
9z @ 3w 20 91 dm w TR 8 fEow
wEA B | T e & o wews EEE R

T a1 R 7

() 10
by 12
(¢) 13
d) 14
U AEATER 4 e e 45 m o dJan

10 m &, ¥ 50 cm W1 % aniem Z@a @A |
Ud Zge & wilw GEe § 20 A § 3w 5w
$a = 1008 ) anl & Fow el f w9 Fw
41 70t 7

fal' 1,200
(by = 1,100
(e} 1,000
(d) ¥ 900

S el | afiman amama & o (B
WedE Al g H M W d9w w9 w0
&) T T R | WA AT el & Saadl w0

B7.

afe = r % v cagdE O & saw Hi
uftfy qen smeht S =7 sTE 3.1 8, A 9
F 9% IS W aTeE =80

3nr®

{al

2n:r21|'i4 nt+9

b
aréyn® 1
3

n:rE,}Jtr::’ +a

3

ih)
el
(d}

UF AW, 98 em ! S % I9 F W R |
6 O | Um @ s o R | 91 v oy
F S 02 7 (m = 22/7 F wm Fifow)

tal 146 cm
tby 1562 cm
(o) 164 cm
(d) 156 cm

e 2 (02) v & fore fAefefaa w faen
#ifao:

u Fgs ABC 1, a, b 3 o vl 6wzl 8

3 p, q AN T FIcFHIAT I T 2

89. Fr=fefiga 4 & SAH ¥# § 7

fa) Z2lp+qg+ri=ta+b+e)

by 2Mp+g+ri>3a+b+c)
el Z2ip+g+ri<3ta+b+el
iddy 1lip+gq+ri=10ta+h+el

IR 7 5
5 e 90, Frerfefin & & W T R 2
(a) :4n
w) ta+th+ei<ip+a+r

() V3:2n (h) 3la+b+ecl<dip+q+r
(@)  2: +Bx el 2Ma+b+el>3(p+g+r
(dy  4:3n dl Sla+b+cl>dip+gqur)

{27 -A)
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91. What is the area of the largest circular dise
cut froma sguare of side ia.J.1:li‘t.:J, ?
Jr
lal  msquore units
(b)Y 1 square unit
(¢) «* square units
(d)  2square units
92. The product of the lengths of the diagonals of
a square is 50 square units. What is the length
of a side of the square ?
(a) 542 units
(b}  Hunits
(e) 1D units
(d) 245 units
93. The surface area of a closed cylindrical box is
352 square cm. If its height is 10 em, then
what is its diameter ? (Use n= % )
fal 4em
(b) Bem
fcl 912em
d) 19-26¢em
SPSS-T-XHI

(28-A)

A square and an equilateral triangle have the
same perimeter; If the diagonal of the square
i5 64/2 cm, then what is the area of the
triangla 7

(a) 1242 cem®
(b) 1243 em®
(¢} 1842 cm?
(d) 1643 cm?

What 18 the area of the region bounded
internally by a square of side of length ‘a' und
externally by a circle passing through the four
corners of the square ?

(n) (n— 1) a* square units
2
—1 .
(b} %ﬂu&m units

(¢) (m—2)a®square units

(r—2)a®

i
(d) 2

square units

In the figure given below, XA and XB are two
tangents to a cirele. If £ AXB = 50° and AC is
parallel to XB, then what is £ ACB equal to ?

(e} 7T0°
(b) 65°
(e} B0°
(d) 55°
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91. w%mﬁ%aﬁﬁﬁaﬂ%mmaﬁﬂ- w T SR wEg B yiey s
: 2 | 3R @ =1 et 62 em B, W Brgw @

w7 I f5h o GaAwer = Em e w8 2
(a) n =1 g W BT
(b 197 gatd () 123 em?
2
S — (e) 1642em
(di 163 em?

(@ 2 s

95. 39 AT F @IFE w7 R [ Her B FAE W A
W ad T A afmg R e A wm At &

R R Lt pe— UL R SRR R LR

(a) (r—1)a% a7
s B | 3l v e ) waE w R 7 v ].ﬂz -
(b) {"_:a Eugcoit
(a) 5J25FR (e) m‘mazaﬁﬁ‘ri
() 5% @ m_:}az T

(e) 103FE

96, A9 fomw m fam #, xA v xBE gE A @
@ 245 T e § | af2 2 AXB = 50° 31T AC, XB F
oo 8, W < ACB feEs wum 2 9

93. UF §% AN 499 H TS Sawel 352 71
Ffier | 3f sedt S 10 om B, W IHH
mwg?{“%mm}

tal] 4om
® BSem : -4
ihy  65°
¢) 912e¢m ©  60°
(d)y 1926 cm {d) 55°
SPSS-T-XHI (26-A)
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97. In the figure given below, p, q, r are parallel | 99,
lines; | and m are two transversals.
i m
A N .5
- B D =S|
L3 (} LF » T
Consider the following :
i AB:AC =DE : DF
2. ABxEF=BCxDE
Which of the above is/are correct 7
ia) lonly
(b) Zonly
fci Bothland2
{d} Nelther 1 nor 2
98. In the equilateral triangle ABC given below, | 199
AD = DB and AE = EC. If ] is the length of a
gide of the triangle, then what is the area of
the shaded region ?
(a) 16
8¢
(b) Tﬁ_
el Hﬁ {E
o 32
ar
id) —_—
32
SPSS-T-XHI (3D=A)

In the figure given below, SPT is a tangent to
the crcle at P and O 18 the centre of the cirele.
If £ QPT = u, then what is 2 POQ equal to ?

(@ a

(b) 2a

¢) 80f-a
(d) 180" —2a

In the figure given below, two equal chords ¢ut
at point P. H AB = CD = 10 em, OC = 13 ¢m
(O is the centre of the circle) and PB = 3 ¢m,
then what is the length of OP ?

fa) bem
(b} 6Gem
(¢) 2429 cm
() 2437 em
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97. 919 fau 0 fem 4, p, g r WO e ¥ (99, A9 fow o fE A, sPT, Ppwoaw o wwiaa #

¢ ¥R m 7y flwad tand # MOFTFAHF FER 1AM 2QPT = &, &
' m £ POQ T8 g 2 2
. ﬁ/ \D P
0
- B E = ] Q
_J} \'F s ’ T
Frafatas o faan Hifmw . i
1. AB:AC=DE:DF 2
2, ﬂxﬂF:HC-xDE b “2a
s A W /A R
(a) FHEE 1 © 90°-a
(by Hae 2
© 13023 (d) 180° - 2a
(d) F8 1,982

98. ﬁﬁﬂﬂ?ﬂ@ﬂgﬁmcﬁ.mznamlm'ﬁﬁq“ﬁiﬁ- 3 Fue S fag P
AE =EC® | oz Frgs &t w o ) oard | #edt § | 4fg AB = CD = 10 em, OC = 13 em

&, @ gwifeEn dm &1 dAea R 0 FwFEz g o) M pB=aemd @
A OP ] Fas F R 2
D E
B C A!C
b B
o 348 12
16
2 (al Bem
(b) ﬂ
16 b) 6em
Lo 3&;”
' 42 (¢! 2J28em
@ 3£ .
32 (d) 2437 em
SPSS-T-XHI (31-A)
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